ITCG “Vittorio Emanuele III” – Lucera

Esercitazione di Chimica


C7 Reazioni ed eq. Chimiche: bilanciamento

a)
2 KClO3
=
2 KCl
+
3 O2
	Elementi
	Reagenti
	Prodotti

	K
	
	

	Cl
	
	

	O
	
	


b) 4 NH3
+
5 O2
=
4 NO
+
6 H2O

	Elementi
	Reagenti
	Prodotti

	
	
	

	
	
	

	
	
	


c) 2 NaCl
+
1 H2SO4
=
1 Na2SO4
+
2 HCl

	Elementi
	Reagenti
	Prodotti

	
	
	

	
	
	

	
	
	


d) 2 VO
+
3 Fe2O3
=
6 FeO
+
1 V2O5

	Elementi
	Reagenti
	Prodotti

	
	
	

	
	
	

	
	
	


e) 2 C2H2
+
5 O2
=
4 CO2
+
2 H2O

	Elementi
	Reagenti
	Prodotti

	
	
	

	
	
	

	
	
	


f) 
2 NaNO3
=
2 NaNO2
+
1 O2
	Elementi
	Reagenti
	Prodotti
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